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Goal	
  	
  	
  	
  	
  	
  	
  
f:	
  	
  D	
  à	
  S1	
  	
  which	
  “preserves”	
  
the	
  structure	
  of	
  the	
  data.	
  



circle	
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  of	
  
knotplot.com	
  



Let	
  α	
  ∈	
  	
  Ci	
  ,	
  	
  	
  	
  	
  	
  
di	
  :	
  Ci	
  =	
  {	
  f	
  :	
  Xi	
  	
  à	
  	
  R	
  }	
  →	
  Ci+1	
  =	
  {	
  f	
  :	
  Xi+1	
  	
  à	
  	
  R	
  }	
  
	
  
α	
  is	
  a	
  cocycle	
  if	
  diα	
  =	
  	
  0.	
  	
  	
  	
  	
  I.e.,	
  α	
  is	
  in	
  Ker(d1)	
  
	
  
α	
  	
  is	
  a	
  coboundary	
  if	
  there	
  exists	
  f	
  in	
  Ci-­‐1	
  s.t.	
  di-­‐1f	
  =	
  α	
  
I.e.,	
  α	
  is	
  in	
  Im(di-­‐1)	
  
	
  
Note	
  di	
  di-­‐1	
  f	
  =	
  0	
  for	
  any	
  	
  f	
  ∈	
  Ci-­‐1.	
  	
  
	
  
di	
  di-­‐1	
  f	
  =	
  0	
  	
  implies	
  	
  Im	
  (di-­‐1	
  )	
  ⊆	
  Ker	
  (di	
  ).	
  	
  
	
  
Hi	
  (X;A	
  )	
  =	
  Ker(di	
  )/	
  Im(di-­‐1	
  ).	
  

See	
  ch	
  5	
  	
  



Persistent	
  Cohomology	
  
	


ε1	
  <	
  ε2	
  <	
  …	
  	
  <	
  εm	
  
	
  
X(ε1)	
  <	
  	
  X(ε2)	
  	
  <	
  …	
  	
  <	
  	
  X(εm)	
  
	
  
Ci(X(εj),	
  R)	
  =	
  {	
  f	
  :	
  Xi(εj)	
  	
  à	
  	
  R	
  }	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ß	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ß	
  	
  …	
  	
  ß	
  	
  	
  
Ci(X(ε1),	
  R)	
  	
  ß	
  	
  Ci(X(ε2,	
  R))	
  	
  ß	
  	
  …	
  	
  ß	
  	
  Ci(X(εm,	
  R))	
  	
  
Hi(X(ε1),	
  R)	
  	
  ß	
  	
  Hi(X(ε2,	
  R))	
  	
  ß	
  	
  …	
  	
  ß	
  	
  Hi(X(εm,	
  R))	
  
Duali:es	
  in	
  persistent	
  (co)homology,	
  de	
  Silva,	
  Morozov,	
  Vejdemo-­‐Johansson,	
  
Inverse	
  Problems	
  2011,	
  hSp://iopscience.iop.org/0266-­‐5611/27/12/124003	
  
	
  	
  

R	
  R	
   R	
  



Proposi:on	
  1:	
  Let	
  α	
  ∈	
  C1(X;Z)	
  be	
  a	
  cocycle.	
  	
  
Then	
  there	
  exists	
  a	
  con:nuous	
  func:on	
  
	
  

θ	
  :	
  X	
  	
  →	
  	
  S1	
  
	
  
which	
  maps	
  each	
  vertex	
  to	
  0,	
  and	
  
each	
  edge	
  ab	
  around	
  the	
  en:re	
  
circle	
  with	
  winding	
  number	
  α(ab).	
  

v2	
  

e2	
  e1	
  

e3	
  
v1	
   v3	
  

→	
  



Proposi:on	
  2:	
  	
  2	
  Let	
  α	
  ∈	
  C1(X;R)	
  be	
  a	
  cocycle.	
  
Suppose	
  there	
  exists	
  α	
  ∈	
  C1(X;Z)	
  and	
  f	
  ∈	
  C0(X;R)	
  	
  
such	
  that	
  α	
  =	
  α	
  +	
  d0f	
  .	
  	
  Then	
  there	
  exists	
  a	
  
con:nuous	
  func:on	
  

θ	
  :	
  X	
  	
  →	
  	
  S1	
  
	
  
which	
  maps	
  each	
  edge	
  ab	
  linearly	
  to	
  an	
  interval	
  of	
  
length	
  α(ab),	
  measured	
  with	
  sign.	
  

v2	
  

e2	
  e1	
  

e3	
  
v1	
   v3	
  

→	
  



	
  
θ	
  :	
  	
  X	
  	
  →	
  	
  R/Z	
  	
  =	
  	
  S1	
  
	
  



Given:	
  	
  α	
  ∈	
  C1(X;R)	
  is	
  a	
  cocycle,	
  	
  	
  	
  α	
  ∈	
  C1(X;Z)	
  	
  
f	
  ∈	
  C0(X;R),	
  	
  	
  	
  	
  	
  α	
  =	
  α	
  +	
  d0f	
  	
  

Create:	
  	
  	
  	
  θ	
  :	
  	
  X	
  	
  →	
  	
  R/Z	
  	
  =	
  	
  S1	
  	
  s.t.	
  vivk	
  goes	
  to	
  interval	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  of	
  length	
  α(vivk)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  →	
  	
  R/Z	
  
	
  
	
  
	
  

v2	
  
e2	
  e1	
  

e3	
  v1	
   v3	
  



Given:	
  	
  α	
  ∈	
  C1(X;R)	
  be	
  a	
  cocycle,	
  	
  	
  	
  α	
  ∈	
  C1(X;Z)	
  	
  
f	
  ∈	
  C0(X;R),	
  	
  	
  	
  	
  	
  α	
  =	
  α	
  +	
  d0f	
  	
  

Create:	
  	
  	
  	
  θ	
  :	
  	
  X	
  	
  →	
  	
  R/Z	
  	
  =	
  	
  S1	
  	
  s.t.	
  vivk	
  goes	
  to	
  interval	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  of	
  length	
  α(vivk)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  →	
  	
  R/Z	
  
	
  
	
  
	
  

Let	
  θ(vi)	
  =	
  f(vi)	
  mod	
  Z	
  
	
  
	
  θ(vi)	
  -­‐	
  θ(vk)	
  =	
  

v2	
  
e2	
  e1	
  

e3	
  v1	
   v3	
  



Given:	
  	
  α	
  ∈	
  C1(X;R)	
  be	
  a	
  cocycle,	
  	
  	
  	
  α	
  ∈	
  C1(X;Z)	
  	
  
f	
  ∈	
  C0(X;R),	
  	
  	
  	
  	
  	
  α	
  =	
  α	
  +	
  d0f	
  	
  

Create:	
  	
  	
  	
  θ	
  :	
  	
  X	
  	
  →	
  	
  R/Z	
  	
  =	
  	
  S1	
  	
  s.t.	
  vivk	
  goes	
  to	
  interval	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  of	
  length	
  α(vivk)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  →	
  	
  R/Z	
  
	
  
	
  
	
  

Let	
  θ(vi)	
  =	
  f(vi)	
  mod	
  Z	
  
	
  
	
  θ(vi)	
  -­‐	
  θ(vk)	
  =	
  f(vi)	
  -­‐	
  f(vk)	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  d0f(vivk)	
  =	
  	
  α(vivk)	
  -­‐	
  α(vivk)	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  α(vivk)	
  	
  	
  mod	
  Z	
  

v2	
  
e2	
  e1	
  

e3	
  v1	
   v3	
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Given:	
  	
  α	
  ∈	
  C1(X;R)	
  be	
  a	
  cocycle,	
  	
  	
  	
  α	
  ∈	
  C1(X;Z)	
  	
  
f	
  ∈	
  C0(X;R),	
  	
  	
  	
  	
  	
  α	
  =	
  α	
  +	
  d0f	
  	
  

Create:	
  	
  	
  	
  θ	
  :	
  	
  X	
  	
  →	
  	
  R/Z	
  	
  =	
  	
  S1	
  	
  s.t.	
  vivk	
  goes	
  to	
  interval	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  of	
  length	
  α(vivk)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  →	
  	
  R/Z	
  
	
  
	
  
	
  

Let	
  θ(vi)	
  =	
  f(vi)	
  mod	
  Z	
  
	
  
	
  θ(vi)	
  -­‐	
  θ(vk)	
  =	
  f(vi)	
  -­‐	
  f(vk)	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  d0f(vivk)	
  =	
  	
  α(vivk)	
  -­‐	
  α(vivk)	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  α(vivk)	
  	
  	
  mod	
  Z	
  

v2	
  
e2	
  e1	
  

e3	
  v1	
   v3	
  



Given:	
  	
  α	
  ∈	
  C1(X;Z)	
  be	
  a	
  cocycle,	
  	
  f	
  ∈	
  C0(X;R)	
  	
  	
  
Let	
  α	
  =	
  α	
  +	
  d0f,	
  	
  	
  a	
  cocycle	
  of	
  	
  C1(X;R)	
  	
  

Create:	
  	
  	
  	
  θ	
  :	
  	
  X	
  	
  →	
  	
  R/Z	
  	
  =	
  	
  S1	
  	
  s.t.	
  vivk	
  goes	
  to	
  interval	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  of	
  length	
  α(vivk)	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  →	
  	
  R/Z	
  
	
  
	
  
	
  

Let	
  θ(vi)	
  =	
  f(vi)	
  mod	
  Z	
  
	
  
	
  θ(vi)	
  -­‐	
  θ(vk)	
  =	
  f(vi)	
  -­‐	
  f(vk)	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  d0f(vivk)	
  =	
  	
  α(vivk)	
  -­‐	
  α(vivk)	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  	
  α(vivk)	
  	
  	
  mod	
  Z	
  

v2	
  
e2	
  e1	
  

e3	
  v1	
   v3	
  



Let	
  α	
  ∈	
  C1(X;R).	
  	
  There	
  is	
  a	
  unique	
  solu:on	
  α	
  	
  to	
  
the	
  least-­‐squares	
  minimiza:on	
  problem:	
  
	
  
	
  	
  	
  	
  min	
  {	
  ||α||2	
  	
  |	
  	
  there	
  exists	
  	
  f	
  ∈	
  C0(X;R)	
  	
  

such	
  that	
  	
  α	
  =	
  α	
  +	
  d0f	
  }	
  
α	
  



The	
  (simplified)	
  algorithm:	
  
	
  
1a.)	
  	
  Calculate	
  H1(X(ε),	
  Zp),	
  for	
  some	
  prime	
  p.	
  
1b.)	
  Determine	
  persistent	
  cohomology.	
  
1c.)	
  Liu	
  persistent	
  1-­‐cocycles	
  in	
  H1(X(ε),	
  Zp)	
  to	
  	
  

1-­‐cocycles	
  in	
  H1(X(ε),	
  Z).	
  	
  
	
  
2.)	
  	
  Simplify	
  the	
  cocyle	
  via	
  least	
  squares	
  minimiza:on.	
  
	
  

3.)	
  	
  Use	
  cocyle	
  to	
  create	
  map	
  θ	
  :	
  	
  X	
  	
  →	
  	
  R/Z	
  	
  =	
  	
  S1	
  	
  s.t.	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  vivk	
  goes	
  to	
  interval	
  of	
  length	
  α(vivk).	
  

	
  






